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i. Range is {he

i, Lix-2)=1

i Mode=3{Md-7)

iv. Class boundariesal 2.5 - 3.5 is

Y. Median of 2,3,7.5,13,10is ......

Vi  Var(3x-2)=7

vil. Coafficient of vadation is infinits i
....... is zaro,

viii. i bz » 3 then Lhe distribullon is ...

ix. A chaln Index number provides
camparison between.......

-K. e, =7

M. Addition law for nol mutually
axclusive gvenis
PAUB)I=P{A) +P(B}-7

xi.  When a pereét die is rolled, the

: probability of even numbers is...

xii.  Tha mean of uniform dislribulion
{-1,1}i5......

xv.

k IIE(x)=§-andE(x’)=-g~

then SDis ........ '

XV, The number of eggs Iay each
month by ahanis..

wi. X has a binomlal dls!rlbuticm
wnh n=9andP5‘3 than ils
varlance wil be equal 1g .......

xvi.  Mean of the binomla! distibuon
- S

xviti,  Tha mean of the binomlal

disleibution is greater than the ..,

A, Mid Point - B L-8§
A nx e 2 B ax-2 C.
A X B. 2% C.
A, 245-355 B. 24-36 C.
A 5 B, 7 C.
A 9Var(x}~2 B, 8varx) ¢
A 8D B. Variance c.
A. Leptokurtic B, - Mesokurlic
A. Firstand last year B, “Yar lo ysar
A nl 8, __n C.
[n=1}l (nl) {n=r)l
A P(AIB) B. P(BIA C.
A0 B, 1
3
A, 1 B -2 C.
)
_4_‘ B. 2 o]
8 4
A. Conlinuous B. Discrate random C.
random variable variable
A 8 B 2 Cc.
A npg 8. Jopg C.
A SD B. - Varlance C.

© Wrlte the correct option l.e. A, B, C or D In the ampty box pravidad opposite to each
C.

ha—h D.

Marks: 18
part,

None of thase [::I

Ix ~2n 'D. Nong of these l::]

nx D. None of these | |

20-40 D. Noneofthese [ |

6 D, §5 ]
. var(x) D. 3Var(x) ]

X D. BolhAandB | -

Platykurc D. Nonaofthess [ |
. First year and 0. Nong of these '

sacond yaar

ool Do

{rl) {n=r1)! ' i

P{A NB) D. P{AUB)

E 0 1

2 L}

0 D 1

2 D. 1

3 ' 2

Random D. Noneof these

" experiment .

3 D 4

np D. J'n_p-
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A R e e B Bntias o8 ZHours and 40 minutes, :
A+ v TEN paits. Each part cairies FOUR marks. '
1, - Explain hé difference belwean paramaler and statistic. ,
2 The lollowing table shows the populallon of provlnoas and FATA. Construct pie chart lo compace the popu!atlon of
- :'prov1nces and FATA, ' _
* [Name , Sindh KPK Balochlstan FATA Punjab
Poputation in Millions % | ‘ 8 4 85
X By laking x= ~2,-1,0,1,2,3 Prova or disprova the following Relations.
) L{x~AM)?u0 ) Lx-2)= AM.
4, -GV =50.9 and variance = 16, what (s mean?
5. Campute the price relalive 1aking 1988 as base and tink relalives from the fallowing.
Year 11980 § 1089 | 1880 | 1891 | 1992 | 1993 1994 T 1995 | 1996
PrcaofWheal | 5 | '55 | 6 | 65 | 7 | 7ot 185 | 9§ |
How many distinct permutations can be formed from aff the letters of the wosd 'SOCIOLOGIGAL‘?
Find the value of *P* Lal P (A}.= 0. § dnd PAUB) =08
2. When A and B ére mutually exclusive events b. When A and B ara mulually Independent avens.
8, Crlculate the mean, madian.and moda from tha follawing data, -
Score n Quiz . (i 1 ~A 1 8 10 [ 12
No.of Students .| 3 i ] "~ 13 8 5 L &
9, Find the Range and Its. cosfiicient from the plvandata. 12,6,7, 3, 15, 18, 24, 5, 10,
10, The probablllty distrbution of a random varlable Xls glvan In the table balow.
X 11213 14 15
P Lo Toa v 0|53 .
Find the valug of . And also the distribution of x,
1. Aconlinyols random variable X that can assums values between x 2 and x= 5 has a denaity function glven by
. LS 2(1+x)127FlndP(x>4)andP(2<x<3) :
12, Find the probabllll(as of the blnomlal expariment deM byn=6andp=05.
13.

The mean and variance of a binomial distribution are 42 and 12.6 raspectively. Find P and n.

Saection - C : - Marks: 27
Attompt any THREE questlons. All queutlom cairy squal marks,

. Prova hat AM > G.M > HM from the (ollowthg data,

Marksy 0-10{10-20| 20~30 | 3040
Na of Sludants 8 12 20 4

The first four moments of & distribullon about tha value x = 4 of the varishlas are - 1. 517,-% and 108, Find the momenls
shout mean and also lia shape and skewness of the distibution, :

In & single throw of a pair of falr dice, Find the probability of getting: , '
(1) Evennumberon1ndisand4on 2dls. - (Il) A totel of gredter than 5. ) Atowlof6ort2.
{lv) Alleast 3. (v)  Totaldfforentfroms, .
Lat x denctea '.he number of posllions held praviously by a ]ob appﬁcant. The; probuh:llty funcﬂon of x Is :

X (2|0 TTTTi] :
T(x) |04 [ 01 {0z 7K [ 03 K|

Find the valus of Ként! calculate.mean an_c-i' standard deviation.
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